




Options 7-134 F80S Manual 
 
 
6753L Right Angle Drive Standard Tooling: 
 
Note:  The Belt Driven Right Angle Drive is designed for a limited clearance between bearing caps 
and it’s performance will deteriorate as larger diameters are bored and extension spacers used. 

1 1 650-2-43 1.05 SPACER
2 1 ANSI B18.3 - No. 10 - Hexagon Socket Head 

24 - 3/8 Cap Screw
3 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

5/8 Cap Screw
4 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

1 Cap Screw
5 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

1 1/4 Cap Screw

Parts List
ITEM QTY PART NUMBER DESCRIPTION

35 4 1 2

REFF8S100-02152006

 
 

1 1 650-2-43A SPACER - 1.50" LONG
2 1 ANSI B18.3 - No. 10 - Hexagon Socket Head 

24 - 3/8 Cap Screw
3 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

2 Cap Screw
4 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

2 1/2 Cap Screw
5 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

2 3/4 Cap Screw

Parts List
ITEM QTY PART NUMBER DESCRIPTION

5 4 3 21

REFF8S101-02152006

 
 
 

1 1 650-2-43B SPACER - .70" LONG
2 1 ANSI B18.3 - No. 10 - Hexagon Socket Head 

24 - 3/8 Cap Screw
3 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

1 1/4 Cap Screw
4 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

1 1/2 Cap Screw
5 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

2 Cap Screw

Parts List
ITEM QTY PART NUMBER DESCRIPTION

34 15 2

REFF8S102-02152006

 



Options 7-135 F80S Manual 
 
 
6753L Right Angle Drive Standard Tooling Cont: 

1 1 501-70A Tool Holder Lock Screw 
ass'y

2 1 small cutterhead body
3 1 small cutterhead cover
4 1 502-2-85B Index Screw
5 1 650-2-6A 4-40 brass tipped set 

screw
6 2 ANSI B18.8.2 - 1/8 x 3/8 Pin - Hardened Ground 

Production Dowel
7 3 ANSI B18.6.2 - 10-24 Slotted Flat Countersunk 

UNC x 0.375 Head Cap Screw
8 1 ANSI B18.3 - No. 10 - Hexagon Socket Head 

24 - 3/8 Cap Screw
9 1 ANSI B18.3 - 5/16 - 18 - Hexagon Socket Head 

5/8 Cap Screw

Parts List
ITEM QTY PART NUMBER DESCRIPTION

3

2

8

7

6

9

1

5

4

REFF8S104-02162006

 
 
650-2-39B Small Line Bore Head  2.0” – 4.0”  (50mm – 100mm) 

Toolholder Toolholder Length Bore Diameter Range 
6801B 1.54”  (39mm) 2.0” – 2.4”  (51mm – 61mm) 
6801C 1.75”  (44mm) 2.4” – 2.8”  (61mm – 71mm) 
6801D 1.95”  (50mm) 2.8” – 3.2”  (71mm – 81mm) 
6801E 2.15”  (55mm) 3.2” – 3.6”  (81mm – 91mm) 
6801F 2.35”  (60mm) 3.6” – 4.0”  (91mm – 101mm) 

 
When used with 6753L Right angle Drive, minimum distance between bearing housings 2.69” (68.3 mm) 
 
511-29-12D and 511-29-12F Torx Wrenchs 
For use with Torx style screw in Triangle cartridges. 

 
 



Options 7-136 F80S Manual 
 
 
900-2-19 Micrometer Assembly: 
2.0” – 4.0”  (50mm – 100mm) 

8

1

6

4

2

5

1 1
2 1 Anvil

1

4 1
1

1
7 1

1

ITEM

 
  
501-72 Hex Drivers 

 
 
 
          Standard Inserts 
RT322 3/8 IC TRIANGLE 1/32 RADIUS 
RT321 3/8 IC TRIANGLE 1/64 RADIUS 
RT212 1/4 IC TRIANGLE 1/32 RADIUS 
RT211 1/4 IC TRIANGLE 1/64 RADIUS 
 



Options 7-137 F80S Manual 
 
 
Thrust Facing Equipment: 
 
The Cross Feed Head used with Rottler’s Line Bore Assembly is used to machine faces and bores that 
are inaccessible to our standard counterboring  packages. Here the Line Bore Head is shown cutting a 
thrust face surface. The Cross Feed Head uses the spindle rotation to drive the cutter out (at .002” per 
rev.) as it rotates.   
 
The operator will manually engage the cross feed by holding the feed ring, located on the cross feed head 
body. When the cutter reaches the maximum diameter of it’s cut, the operator will (1) release the ring, (2) 
jog the cutter off the surface, (3) stop the spindle rotation, (4) engage the retract feed, (5) restart the 
spindle, (6) hold the feed ring, resulting in the cross feed retracting at the rate of .04” per rev. 
 
 
 

 



Options 7-138 F80S Manual 
 
 
6648 Caterpillar 3400 Series Tappet Bore Repair Kit: 



Options 7-139 F80S Manual 
 
 
Spindle Adapters for Mounting Universal Tooling 
6170C Blank Adapter 
 
This adapter can be machined by the customer to suit special tooling needs. 
 

6170C Parts List
ITEM QTY PART NUMBER DESCRIPTION

1 1 6170L ADAPTER, SURFACING HEAD
2 1 6181 Drive Key
3 1 ANSI B18.3 - 10-32 UNF - 0.375 Hexagon Socket Head Cap Screw

1

2

3

REFF8S139-05102006

 
 



Options 7-140 F80S Manual 
 
 
6170J #40 Taper Adapter Assembly 
 

Parts List
ITEM QTY PART NUMBER DESCRIPTION

1 1 6170F Locking Screw
2 1 6170H Key, Drive
3 1 6170E ADAPTER, SURFACING HEAD
4 1 6181 Drive Key
5 1 ANSI B18.3 - 1/4 - 20 UNC - 5/8 Hexagon Socket Head Cap Screw
6 1 ANSI B18.3 - No. 10 - 24 UNC - 3/8 Hexagon Socket Head Cap Screw

1

3

4

6

2

5

REFF8S140-05102006

 



Options 7-141 F80S Manual 
 
 
6170K R8 Adapter Assembly 
 

4

1

2

3

5

REFF8S141-05102006

 
 



Options 7-142 F80S Manual 
 
 
6514Q Adapter, MT #5 
 

6514QParts List
ITEM QTY PART NUMBER DESCRIPTION

1 1 6514Q Adapter, MT #5
2 1 6181 Drive Key
3 1 ANSI B18.3 - 10-32 UNF - 0.375 Hexagon Socket Head Cap Screw

1

2

3

REFF8S142-05102005

 
 
 
 



Options 7-143 F80S Manual 
 
 
Front View V6/V8 Auto Rotate Fixture: 
 

 



Options 7-144 F80S Manual 
 
 
Front View V6/V8 Auto Rotate Fixture Upgrade Model: 
Effective after 12/20/202 
 

 



Options 7-145 F80S Manual 
 
 
Rotations Drive Assembly: 

 
 



Options 7-146 F80S Manual 
 
 
Rotational Drive Assembly Fixture Upgrade Model: 
Effective after 12/20/2002 

 



Options 7-147 F80S Manual 
 
 
Rotational Drive Gear Housing: 

 
 
 
 
 



Options 7-148 F80S Manual 
 
 
 
Rotational Drive Gear Housing Upgrade Model: 
Effective after 12/20/2002 

 
 



Options 7-149 F80S Manual 
 
 
180 Degree Rotational Lock: 
 

 
 



Options 7-150 F80S Manual 
 
 
Right Side View V6/V8 Auto Rotate Fixture: 
 

 
 



Options 7-151 F80S Manual 
 
 
Left Side View V6/V8 Auto Rotate Fixture: 

 
 
 



Options 7-152 F80S Manual 
 
 
Rear View V6/V8 Auto Rotate, Air Enclosure: 
 

 
 



Options 7-153 F80S Manual 
 
 

Front View 
V6/V8 Auto 
Rotate 
Fixture, Air 
Enclosure, 
Upgrade 
Model: 
Effective After 
12/20/2002 
 

 



Options 7-154 F80S Manual 
 
 
Auto Rotate Enclosure Upgrade Model: 
Effective After 12/20/2002 
 
 
 
 
 
 
 
 

 
 
 



Options 7-155 F80S Manual 
 
 
Center Section V6/V8 Auto Rotate Fixture: 

 



Options 7-156 F80S Manual 
 
 
Auto Rotate Block Clamp Left Hand: 
 

 
 



Options 7-157 F80S Manual 
 
 
Auto Rotate Block Clamp Right Hand: 

 
 



Options 7-158 F80S Manual 
 
 
Sliding Chip Guard F85 – F84, Single Door: 

 
 



Options 7-159 F80S Manual 
 
 
Door Assembly, Single Door: 

 
 
 
 


